Algebra 2 Worksheet

Combo on TEST 1.3 Concepls
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IIT  ‘Word Problems. Write a system to solve the

ward probles, bist B0 KOT SOLVE.
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7. Brian is 26 years older rhan his doughter Eim. The
dum of ther ages is feice the differences of theer oged.
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AV, Compound and Abselute

Value Tnequalities. Sa d
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s Lineor Regression.

i Groph the data in o seatter plot an your graphing calculatar using the mean digtance from The 2un o]
frm.r independent variable

Flanet Mereury | Vemus Esth | Mars Tupitar Saturm | Uramsa | Mepfune
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Predict the fime of ore revalution for Plute if its mess distarce from the sun is 33507 ALl How accurate
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